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V=[] # WA EEHE

counts =[] # WA EUE

count_rates = [ | # TEIECRIFIE B F

for count in counts:

count_rate =count * 3 /5

count_rates. append(' %. 3f" % count_rate)

z1 = np. polyfit(V ,count_rates ,4) # LIz
Sy

pl = np. polyld(z1)

yvals = pl1(V)

BEER I3 A G — M T PR il 2k A 22 1 B2 1
B S ARSI B K A BRES R SR 1 PR

x1 WEGC MIitHHEITRLHNETE

o

B PHEOE THECR | 7 | B BHEUE TR
V/ k| N HWE VRN

n/mm n/mm

Jo

1] 320 | 402 | 241.2 8 | 460 | 1009 | 605.4

2 | 340 | 963 | 577.8 9 | 480 | 980 | 588.0

3 | 360 | 942 565.2 | 10 | 500 | 987 592.2

4 | 380 | 896 | 537.6 || 11| 520 | 1050 | 630.2

5 | 400 | 921 552.6 | 12| 540 | 1045 | 627.0

6 | 420 | 965 | 579.0 | 13| 560 | 1165 | 699.0

7 | 440 | 994 | 596.4

(2) DATF S 52 S T Ak 1 38 4 ARG
plotl = plt. plot(V,count_rates, * ',label =

'Raw data’)

plot2 = plt. plot(V, yvals, 'r’,label = 'Curve
fitting")
plt. xlabel('V/ {k ', fontproperties = 'SimHei")
plt. ylabel('n/min’, fontproperties= 'SimHei")
plt. show()
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ent =[] # - EEI %

istNs =[] # Xf B I F 3 %

theoreticalPNs = [ ]

averN =0

N =np. array(listNs). sum) # I H K %L

cnts = np. array(ent)

truePNs = listNs / N # 3Rk P(N) f52Pr{E

for i in range (0,lenCent)): # 3Ri+%U{H #YF
¥{H

averN = averN + listNs[i] * cnts[i] / N

for iin ents: # RELIGHER

theoretical PN=((averN) % * i) * (np. exp

(—averN))/np. math. factorial (i)
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theoretical PNs. append(theoretical PN)
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< C ® 127.0.0.1:5000/poisson/table

AR HSCIREEICRE

SE9{E= 2.588 tfEE= 1.609

AR [ e
0 32 0.104 0.075
1 67 0.218 0.195
2 56 0.182 0.252
3 63 0.205 0.217
4 146 0.149 0.140
5 27 0.088 0.073
6 12 0.039 |0.031
7 3 0.010 0.012
8 1 0.003 0.004
9 1 0.003 0.001
| Stitexcel |

5 SR AR S0 A S S8 f) B A LS 2R

(2) DAF 2 S B ol MLAR A #E 01 «

P= figure(title=" S 531 K", x_axis_label=
"N", y_axis_label ="P(N)")

pl = figure(title=" Bg /37 K", x_axis_label =
"N", y_axis_label ="P(N)")

p2=figure(title="XF [LE" , x_axis_label=
"N",

y_axis_label ="P(N)")

r = gridplot(children = [[p, pl], [p21D

show(r)
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def large (list, big) : # Jr2H A%
a=[] b=[]
for iin range (0,len(listl)):

if list1[i] >= big -

=
oo -

listl = list

for j in range (i,len(listl)):
b. append(list1[j ]
break
else:
a, append(list[i])
return a, b
def fung(avg,Q=[D: # minfiitH
N =np. array(Q)
tpn= np. exp((— (N—avg) * *2)/(2 * avg))/

(Cavg * (2% np.p1)) * % 0.5)

return tpn
M%r%u% B K A BOE BEAT 4 AL i

A 2HL W AU 3R L B e S0 O3 A 1) RS A L
PR 7R - {E Cavg) L S KL AR 22 (W) (2R B

(g) R E g R, it B H avg 2W.avg +2W.,avg +

3W = A X ] B A

WNE 7 FioR S50 BOE 4R 58 )5 L R T AE I BT 1 DA
TG I 32 BLRCHE A B0 45 R AE AR 2B L ave +
W .avg+2W . avg+3W =4~ X [a] i) HE R 5 5 K
0.6980,0. 9451,0. 9980, 5 & 37 4 1ii (4 2 & #f %
68.5%,95.4%,99. 7% M.

< c ® 127.0.0.1:5000/gaussian/table

SHIS IR RE

PigfE(avg)= 327.700 EIEDREL =510 FRUEE(W)= 18.102
AEE = FRAEE/2(W/2)= 9.051

AEEXE SREY| STE 3RE/4H3E IBiC(E
[273.3925,282.4438)[7 [0.0137]0.0015 [0.0002
[ 282.4438, 291.4950)[7 [0.0137]0.0015 [0.0010
[291.4950, 300.5463)[16 |0.0314/0.0035 |0.0030

[ 300.5463,

309.5975 )

47

0.0922

0.0102

0.0072

[ 309.5975,

318.6488 )

76

0.1490

0.0165

0.0134

[318.6488,

327.7000 )

96

0.1882!

0.0208

0.0194

[ 327.7000,

336.7512)

102

0.2000

0.0221

0.0220

[336.7512,

345.8025 )

82

0.1608

0.0178

0.0194

[ 345.8025,
[ 354.8537,

354.8537 )
363.9050 )

38
25

0.0745!

|0.0490

0.0082
0.0054

0.0134
0.0072

[ 363.9050, 372.9562)|[11 |0.0216|0.0024 |0.0030
[372.9562, 382.0075) |2 0.0039|0.0004 |0.0010
[ 382.0075, 391.0587 ) |1 0.0020(0.0002  |0.0002
(avg-W,avg+W)XEJRAIHEEEE: 0.6980

(avg-2W,avg +2W)KIEIRAIEEE: 0.9451
(avg~‘3W,avg+3W)E]El|7~]B’\J)ﬁ%$: 0.9980
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(2) DATF 2 52 B mT A0 Ak 0 35 0 AR A

p = figure(title = " Bl K /> i 5 )5 ",
x_axis_label

="HHHCR N, y_axis_label =" $iR /4l ")

pl = figure(title =" B i 1E 25 2 fii & ",
x_axis_label

=" FHHCR N", y_axis_label ="P(ND",)

p2 = figure(title =" X [L ", x_axis_label ='
HHR N", y_axis_label ="P(N)")

r = gridplot(children=[[p, pl], [p2]])

show (r)
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Cloud Computing Data Processing of

G — M Counter Experiment

Zhang Runsheng Cheng Minxi Xu Yongkang

(School of Physics and Telecom municaion Engineering,South China Normal University, Guangzhou, Guangdong 510006)

Abstract: Based on the principle of cloud computing, a program for assisting G — M counter and radioactive

decay statistical law experimental data processing was designed with python and Flask,which can quickly realize

functions such as data calculation, G — M counting pipe plate curve and radioactive decay statistics drawing.

Key word: cloud computing; Python; Flask;data processing; G — M counter
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